Answers Thursday 30th April

Grammar – Parenthesis for Clarity
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Maths Year 5 – Metric Units
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Year 6 Maths – Volume of a Cuboid
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Expected

5a. Katie’s dentist's unfortunate name;
what the dentist wasn't very good atf; how
nervous Katie was

6a. The first and fourth paragraphs

7a. The second and fourth boxes ficked
8a. “left open just wide enough that she
might be able fo sneak out”; “even if it
was three floors up”

Expected

5b. The colour of Samran’s back and how
that happened, the fact the power in their
house had been cut off, the colour of the
bills, the fact Samran had pleaded with his
father to pay the bills

6b. The first and third paragraphs

7b. The first and fourth boxes ticked

8b. “when he'd finally be free”; “and it
was a secret his father would never know”
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Expected Expected

5a.2.5m 5b. 1,400cm
6a. False; 46km > 4,600m 6b. True
7a.< 7b.>

8a. 96cm 8b. 17.5m
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Expected Expected

4a. Yes - cm spare 4b. Yes - 0.1m spare
sa. sb. .
Divided by 10 Multiplied by 10
700 | 70 | 07 09 | 90 | 900 ||
instead of 100 instead of 100
Multiplied by 100
4,600 460 | 4 13 | 130 [1,300 | MOTRRSAbY
Divided by 100 Multiplied by 10
8100 810 | 81 |instead of 10 508 | 508 | 5080 instead of 100
4a. Shaun is comect. 1,000mm = Tm. éb. Cassie is comect. 100cm = 1m. 10cm =

100mm =0.1m 0.lm
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Expected Expected

5a. 1B, 2C, 3A 5b.1C, 28, 3A
6a. True 6b. False. 4 x 4 = 16, so you could use
7a. 16cm? x 4cm to find the volume.
1 w h v
7b.
I3 w 13 v
Cuboid 1| 4m 7m | 500cm | 140m*
cube | 2em | 2cm | 2cm | sem®
Cuboid 2| 11em | 2cm | 4em | 88em®
Cuboid 1| émm | $mm | 4mm [216mm:|
Cube | 8cm | 8em | scm |S12em:

8a. A= 1,331cm?, C = 810cm?, B = 96cm® Cuboid2| 400em | 7m | Mim | 4z’

(or vice versa) 8b. A = 96m?, C = 108mS3, B = 135m3
(or vice versa)
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Expected

4a. Harry is correct. He has correctly
multiplied the dimensions of the cuboid
and included the correct units of measure.
5a.w=6m, i =20m

6a. Sarah is incorrect because the volume
of Ais 385cm® and the volume of B is
576cm®.

Expected

4b. Bella is incorrect. Volume is measured
using cubic measurements, not squared
measurements. The correct answer is
1,001cm?.

Sb.1=12cm, w=5cm

6b. Jason is incorrect because the volume
of Ais 1,176cm® and the volume of B is
150cm®.




